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CH : BH, CH?=AHXBH=8X1=38,
CH=/8=2/2 (cm)

17 (1) DE=acm &35, AAED»ABEC &Y,
DE : CE=AD : BC, a : CE=6 12,
CE=2a AABExADCELY, BE : CE=
AB : DC, BE : 2¢a=9 : 6, BE=3a &o
T, 3t _ .

(2) AD=DC X 9 LABE =Z2DBC, BCIZxf3
HPHEMEIY LBAE=4ZBDC &oT, A&
ABE o ADBCAK Y vioH 5, AB : DB=
BE : BC, 9: (3a+a)=3a : 12, 124°=
12X9, a>0& 9 a=3(cm)

@ +#Bel2)
o BRIE

1 (1) x=15 (2) x=15

2 (1) x=2 () x=3

3 (1) 5:8 (2) 25:79

4 (1) 1:1 (2) 2:5

5 () 1:2 (2) 1:3

6 C%ili) ADICFAT2EME VX, BAD

EREOXRHZEELTAHE, BA: AE=
BD : DC--@ %7, ZAEC=ZBAD(Jd
i), £ ACE=/DAC (&) T, gk
Y ZBAD = ZDAC7H» 5, LAEC=/
ACE X 57T, AACE R -SU=MK1EH
5, AE=AC—-®@ @Qt®&bh, AB:
AC=BD : DC

)

15 M D#%BCIZoWVWTH YK
L7zsi#ZEE¥5E, AP+PD
A/ E R BDIX, AE & BC D
DREBEHBPDOEETH B,

Zor%, L/ABC=ZACB= B P
ZBCE XD, $EAFELVO
T, AB//EC L -o5T, AABP E

7 (1) 2:3 (2) 2:1
8 (1) 1:2 (2) 6cm?
e

1 (1) 12:9=(12+8) 1%, x=15

(2) 5:&—5)=6:12, x=15
_

5

(2) 9:6=020—2x) :x, 9=6(20—2x), x=38
3 (1) AAFExACFBLY,

AF : FC=AE : CB=5:8
(2) AE : AD=5:8, AF: AC=5:(5+8)

2 (1) 5:4=6 .1, «

=5:134&0, AAFEZ%AAFD=%X

5 25 .
13 8 ACD =174 ACD £ o7T, AAFE





